
B.A./B.Sc./Part-I/Hons./Economics/ECOA-II/2019 

1036 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours Part-I Examination, 2019  

ECONOMICS 

PAPER-ECOA-II 

Time Allotted: 4 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

Use separate answer book for each Group 

pিতিট িবভােগর জন° পৃথক উtরপt ব°বহার কেরা 

All symbols are of usual significance. 

 GROUP-A 

িবভাগ-ক 

1. Answer any three questions from the following:  

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাওঃ 

4×3 = 12

(a) With example distinguish primary data and secondary data.   

উদাহরণ সহেযােগ pাথিমক রািশ তথয্ ও মাধয্িমক রািশ তেথয্র পাথ�কয্ কেরা।  

(b) Why class boundaries are called real class limits of data of continuous type? 
Explain with example.   

অিবিcn ধরেনর তেথয্র েkেt েËণী সীমাnেক  pkত সীমা বলা হয় েকন ? উদাহরণ সহেযােগ বয্াখয্া 
কেরা। 

2+2

(c) Give some examples where the median or mode rather than AM would be the 
proper form of average.  

কেয়কিট উদাহরণ দাও েযখােন েযৗিগক গড় নয়, মধয্মা বা সংখয্াgr মানই হেব গেড়র উপযুk rপ। 
(d) If dycxz += , where c and d are constants then show that ydxcz += .  

যিদ dycxz +=  হয়,  েযখােন c এবং d  rবক, তাহেল েদখাও েয ydxcz += . 
(e) Find yx,  and xyr  from the following regression equations:  

িনেm pদt িনধ�ারণ সমীকরণgিল েথেক yx,  এবং xyr  এর মান িনণ�য় কেরাঃ 

 7.01.1– =xy   

 25.0687.0– =yx  
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(f) What do you mean by ‘Time Series’? Explain its utility in ‘Economics’.  

কালীন সাির িক ? ‘‘অথ�নীিতর’’ েkেt এর উপেযািগতা উেlখ কেরা। 
  

2. Answer any one question from the following:  

িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ 
8×1 = 8

(a) (i) The first two moments of a distribution about value 4 of the variable are –1.5 
and 2.7 respectively. Median of the distribution is 2.1. Calculate coefficient 
of skewness.  

 চলক রািশমান 4 এর সােপেk েকান একিট িনেবশেনর pথম dিট moment এর মান যথাkেম  
–1.5 এবং 2.7। এই িনেবশেনর মধয্মার মান 2.1। pিত �বষময্াì িনণ�য় কেরা। 

4

 (ii) Distinguish between ‘positively skewed’ and ‘negatively skewed’ 
distribution.  

 ‘ধনাtক pিতৈবষময্’ ও ‘ঋণাtক pিতৈবষেময্র’ মেধয্ পাথ�কয্ িনণ�য় কেরা।  

4

(b) (i) Mention the different measures of relative dispersion and explain its utility.   

 আেপিkক িবstিতর পিরমাপgিল উেlখ কের তার উপেযািগতা আেলাচনা কেরা। 
5

 (ii) A distribution has standard deviation 3. Calculate the value of 4th central 
moment so that the distribution is 

 (1) Mesokurtic  (2) Platykurtic  (3) Leptokurtic 

 একিট িনেবশেনর সমক িবcয্িত 3, চtথ� েকndীয় েমােমেnর মান িনণ�য় কেরা যােত িনেবশনিট  
 (1) Mesokurtic  (2) Platykurtic  (3) Leptokurtic  হয়।

3

  

3. Answer any two questions from the following:  

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) (i) Compare Mean, Median and Mode as measure of Central Tendency.  

 েকndীয় pবণতার পিরমাপ িহসােব েযৗিগক গড়, মধয্মা এবং সংখয্াgr মােনর tলনামূলক 
আেলাচনা কেরা। 

7

 (ii) Calculate Median and Mode.  

 মধয্মা এবং সংখয্াgr মান িনণ�য় কেরা। 
Class 

েËণী 
Frequency 

পিরসংখয্া 
150-159 37 

160-169 42 

170-179 69 

180-189 104 

190-199 90 

200-209 83 

210-219 52 

 

6+2



B.A./B.Sc./Part-I/Hons./Economics/ECOA-II/2019 

1036 3  Turn Over 

Calculate mean using empirical relation  

Empirical  সmেক�র িভিtেত েযৗিগক গেড়র মান িনণ�য় কেরা। 
(b) (i) What do mean by standard deviation (SD)?  

 সমক িবcয্িত বলেত িক েবাঝায় ? 

3

 (ii) Explain why SD is regarded as superior  to other measure of dispersion.  

 সমক িবcয্িত েকন অনয্ানয্ িবstিতর পিরমাপ েথেক েবশী gহণেযাগয্ ? 

5

 (iii) Find the correlation coefficient from the following observation:    

 িনেmর পয�েবkণ েথেক সহপিরবত�ন gণাì িনণ�য় কেরাঃ 

x 5 7 9 11 13 15 

y 1.7 2.4 2.8 3.4 3.7 4.4 
 

7

(c) (i) What do you mean by skewness and kurtosis?  

 pিতৈবষময্ ও তীkতা বলেত িক েবােঝা ? 

4

 (ii) For a certain distribution of weekly expenditure of 200 families, the mean, 
mode and coefficient of variation were found to be Rs. 64, Rs. 60 and 40% 
respectively. Find the measure of skewness of the distribution.  

 200 পিরবােরর সাpািহক খরেচর একিট িবভাজেনর েযৗিগক গড়, সংখয্াgr মান ও েভদােìর 
মান যথাkেম 64 টাকা, 60  টাকা এবং 40% । pিতৈবষেময্র পিরমাপ িনণ�য় কেরা।  

5

 (iii) Discuss the problems in the constraction of index numbers.  

 সূচক সংখয্া িনম�ােণর েkেt িবিভn সমসয্াgিল আেলাচনা কেরা। 

6

(d) (i) What is cost of living Index Number? Mention its uses. 

 জীবন যাtার বয্য় িনব�াহী সূচক সংখয্া বলেত িক েবাঝায় ? এর বয্বহারgিল আেলাচনা কেরা। 

2+4

 (ii)  

Group (িবভাগ) Index (সূচক) Weight (grt) 

Food  (খাদয্) 225 45 

Clothing (েপাশাক) 166 06 

Light & Fuel (আেলা ও jালানী) 212 05 

House Rent (বাড়ী ভাড়া) 190 10 

Others (অনয্ানয্) 205 34 

Calculate Cost of living Index Number  

জীবন যাtা বয্য় িনব�াহী সূচক সংখয্া িনণ�য় কেরা। 

4
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 (iii) Fit a straight line trend equation  

 একিট সরলৈরিখক pবণতা সমীকরণ িনণ�য় কেরা 

Year 
বছর 

Production in thousand tons 
উৎপাদন (’000 টেন) 

2010 37 

2011 38 

2012 37 

2013 40 

2014 41 

2015 45 

2016 50 

Find the trend value for 2019. 

2019 সােল সmাবয্ উৎপাদন pবণতা িনণ�য় কেরা। 

4+1

  

 GROUP-B 

িবভাগ-খ 

4. Answer any three questions from the following: 

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাওঃ 

4×3 = 12 

(a) Consider the utility function 21qqU =  and the budget constraint 

2211 qpqpY += . Find the demand functions for 21 and qq . 

ধরা যাক উপেযাগ অেপkক 21qqU =  এবং বােজট েরখা  2211 qpqpY += । 1q এবং 2q  
dেবয্র চািহদা অেপkক িনণ�য় কেরা। 

(b) Suppose that the production function ),( KLfY =  is linear homogeneous. Show 
that 22 KfLf KKLL =  . 

ধরা যাক ),( KLfY =  হল �রিখক সমজাতীয় উৎপাদন অেপkক। েদখাও েয, 22 KfLf KKLL =  
(c) If marginal propensity to consume (mpc) = 0.8, obtain the consumption function 

if consumption is 40 when income is zero. Also derive the saving function.   

যিদ pািnক েভাগ pবণতা (mpc) = 0.8 হয় এবং েভােগর পিরমাণ 40 হয় যখন আয় শূনয্, তেব েভাগ 
অেপkকিট িনrপণ কেরা। এেkেt সĀয় অেপkকিটও িনrপণ কেরা। 

3+1

(d) Given )(75.0200 TYC −+= , rI 25200 −= , 100==TG . Derive the equation of 
the IS curve and its slope.  

েদওয়া আেছ )(75.0200 TYC −+= , rI 25200 −=  100==TG . IS েরখার সমীকরণ ও 
ঢাল িনণ�য় কেরা।   

3+1
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(e) Suppose production function is BAx 99 += . If prices of A and B are equal 
then show that the firm will use equal quantities of A & B.  

যিদ উৎপাদন অেপkকিট BAx 99 +=  হয় এবং A ও B এর দাম সমান হয় তেব েদখাও েয 
ফাম�,  A ও B  সমপিরমােন বয্বহার করেব। 

  

5. Answer any one question from the following: 

িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ 

8×1 = 8

(a) In a two commodity framework, derive the Slutsky equation for a rational 
consumer and show that own price substitution effect is negative. 

dিট dেবয্র মেডেলর েkেt একজন যুিkবাদী েভাkার sাটিs সমীকরণিট িনণ�য় কেরা ও েদখাও েয 
দাম পিরবত� pভাবিট ঋণাtক। 

6+2

(b) (i) The demand and supply functions of a commodity are given by 
3

20 pq −
=  

and  
2
pq =  respectively. If the commodity is sold in a perfectly competitive 

market what will be the amount of consumer’s surplus? 

 ধরা যাক েকান একিট dেবয্র চািহদা ও েযাগান অেপkক যথাkেম 
3

20 pq −
=  এবং 

2
pq = । 

যিদ dবয্িট একিট পূণ� pিতেযািগতার বাজাের িবkয় হয় তেব েভাkার উdbেtর পিরমাণ কত হেব 
তা িনrপণ কেরা।   

4

 (ii) State Euler’s theorem and verify whether the theorem holds for the function 

2
1

2
1 P

MPX = , where 21 and PP  are the prices of 1X and 2X  respectively, M is 

money income and 1X  and 2X  are the demand for two commodities. 

 Euler –এর তttিট িববৃত কেরা এবং এই তttিট িনেmর অেপkকিটর েkেt কায�করী হয় িকনা তা 
যাচাই কেরা। অেপkকিট হল 2

1

2
1 P

MPX =  েযখােন 1P এবং 2P  হল যথাkেম 1X  এবং 2X  

dেবয্র দাম,  M  হল আিথ�ক আয় এবং 1X , 2X  হল dবয্ dিটর চািহদা। 

1+3

  
6. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) (i) A competitive firm sells its output at a fixed price of Rs. 4 per unit. The cost 
function of the firm is 5109.004.0 23 ++−= qqqC . Find the profit 
maximizing output level of the firm and determine corresponding total 
profit. Do you think that the firm will continue production? If not, then what 
should be the minimum price for the firm to continue production?    

 একিট pিতেযাগী ফাম� pিত একক 4 টাকা িনিদ�Ŷ দােম তার dবয্ িবkয় কের। ফাম�িটর slকালীন 

েমাট বয্য় অেপkকিট হল 5109.004.0 23 ++−= qqqC । তার মুনাফা সেব�াcকারী 
উৎপাদন এবং মুনাফার পিরমাণ িনধ�ারণ কেরা। tিম িক মেন কেরা, উৎপাদন pিতŸানিট 
উৎপাদন চািলেয় যােব ? যিদ না হয়, তেব নূয্নতম কত দােম েস উৎপাদন চালােত পারেব ? 

6+1+2
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 (ii) Derive the short run aggregate supply function of a perfectly competitive 
industry consisting of 100 firms with identical cost function given by 

101521.0 23 ++−= qqqC .   

  100 ফাম� িবিশŶ একিট পূণ�াñ pিতেযািগতামূলক িশেl pিতিট ফােম�র বয্য় অেপkক হল 

 101521.0 23 ++−= qqqC . 

 িশেlর slকালীন েযাগান অেপkক িনধ�ারণ কেরা। 

6

(b) (i) Show that equilibrium commodity purchase levels for the following two 
utility functions 

2
5.1

11 qqu +   and 21
4
2

6
12 loglog5.1 qqqqu ++=  are same 

when the budget constraint of the consumer is given as 10043 21 =+ qq . Why is 
this the case? 

 েদখাও েয িনmিলিখত dিট উপেযাগ অেপkক 
2

5.1
11 qqu +  এবং 

21
4
2

6
12 loglog5.1 qqqqu ++=  এর েkেt েভাkার dবয্gিলর ভারসাময্ kেয়র পিরমাণ 

একই থাকেব যখন েভাkার বােজট েরখার সমীকরণ 10043 21 =+ qq  । এrপ হয় েকন ? 

10

 (ii) Determine the domain over which the production function 
)(5.1220)(100 2

2
2
12121 xxxxxxQ +−++=  is increasing and strictly concave.  

 উৎপাদন অেপkক, )(5.1220)(100 2
2

2
12121 xxxxxxQ +−++=  এর েসই অĀলিট েবর 

কেরা েযখােন উৎপাদন অেপkক বৃিd েপেত থােক এবং সুিনিদ�Ŷভােব অবতল হয়। 

5

(c) (i) In an economy the rate of income tax is 20%, average and marginal 
propensities to save is 0.2. Government expenditure is Rs. 800 crores. 
Autonomous investment is Rs. 280 crores. What is budget deficit?  

 েকােনা একিট অথ�নীিতেত আয়কেরর হার ২০ শতাংশ , গড় ও pািnক সĀয় pবণতার মান 0.2 । 
সরকাির বয্য় হল 800 েকািট টাকা এবং sয়mত িবিনেয়ােগর পিরমাণ 280 েকািট টাকা। বােজট 
ঘাটিতর পিরমাণ কত ? 

5

 (ii) Using Cramer’s rule find out the effect of an autonomous increase in 
government expenditure and money supply on equilibrium income and rate 
of interest in the IS-LM model.  

 IS-LM মেডেল ভারসাময্ আয় এবং সুেদর হােরর উপর sয়mত সরকারী বয্য় এবং অেথ�র েযাগান 
বৃিdর pভাব kয্ামােরর পdিতর মাধয্েম বয্াখয্া কেরা । 

10

(d) Consider the production function βα KLQ = ; 

মেন কর উৎপাদন অেপkকিট হল βα KLQ =  

4+3+8

 (i) Under what restrictions on α and β the production function exhibits 
diminishing marginal product for both factors?  

 α ও β-র উপর েকান শত� আেরাপ করেল িনিůত হওয়া যায় েয dিট উপাদােনর েkেtই 
kমhাসমান pািnক উৎপাদনশীলতা নীিত pেযাজয্ হেব ?  
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 (ii) What are the restrictions you need to impose on α and β to ensure that the 
production function satisfies (1) diminishing returns to scale (2) increasing 
returns to scale (3) Constant returns to scale?    

  α ও β র উপর েকান শত� আেরাপ করেল িনিůত করা যায় েয উৎপাদন অেপkেকর েkেt 
মাtাবৃিdর  (1) kমhাসমান  (2) kমবধ�মান (3) সমহার pিতদান pেযাজয্ হেব ? 

 (iii) Now suppose 1=+ βα , derive the long run average and marginal cost 
functions and comment on their shapes.  

 1=+ βα  ধের িনেয় দীঘ�কালীন গড় বয্য় ও pািnক বয্য় অেপkকgিল িনণ�য় কেরা ও তােদর 
আkিত সmেক� মnবয্ কেরা। 

 
——×—— 
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